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NB:: 1. Allgeestions are compulsory Tata) Miarks: 70
2. Figures to right iodicate full urks

317 Al Arswer the Toliowing encitions 4
% Assign E/Z or RS or T¥, ssnations and someanziae the following molevules as por [UPAC mte-s
fAry Twalk:
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¢. Disdkw passibie tésonatisg siracturs far the foltowig corpnonds

Asisuleand fhenal
d. Runk the ordetal Basiciiy forthe following arpaulc sompamnds and josty
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. Establisi ¢ relattonslip betwoen followiag palr of molecales

Bl Give the prosucts of the fallowing reactions {Acy Theee): 52}
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b? fdentify all the nucleophiles i3 the given reaction LR
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£ Arswar e fullowing guestions: e

i1 Arranye the feliowing sets of carbantons i inensming erder ot ©adiiity and juaify the some
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| i Bt the steenchervistry of hydroxylation of trans 2 butene using osmiurs fetoxice,
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Q.3 A} Wihet me mesomers? Are they opticsily sonve” Give suable example. e
1) Represent 2(8), {8 LA-Dihydroxy-Ynitcobnto ol vslng variovs sroteetion firmalas 023
GCo What is Savizeff's rale? Givethe mechanize or delndrokalogenmer reattioe of voopenty!
kromide asing sleohalic sodium: hydroxide. {0
01 Give probable strucures 16r the folicwing 04}

& Ar alkeni vielding 2 moles offacerone on czsnelysis

13 A produet obtaged on addition of HEY 1o Fropens

til Avalkene obained on defydration of 2-Methy - 2-butanol

1 A produst odlained O adoition of fsvbutane 1 iweduviene in presemcs of acid catalvst

CA A) Ditcuss the rnéntalon and reactivity of tae <7H aroap owards oluttrophibe ardemstis
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B) Give the mechanism for sulfonativs of acctanilide. {2
C) Bring about the Dollowing coaversions. (Any Twa) (03
ii Propyite 10 2-pentyne ) toutyfhromide to 3-Biemo-Zavethyiproponc
i1y 1. Butene i 2-Butene
DY Give the proded for e iriwing 1sacton (Any Toree ) {03)
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i) Conf guitin 1) Epsptiomer
B) ld=pt 8y whother the following molovules are chira! or sekinal. Justify (62)
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C) Both m-bromuoanissie and o-bromoinisok vield m-spisidine ca renction with sedamide and
liquid armenia. Give the meshanise of formutivn of the prodect and fustify the same. ) (0%
o) Staze: Hudkel's rule for uromaticity, Idemrify whether the given molecnlel are aromatic,
antiatunativ oroon-aromatis. {(e4)
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Q. A) What 20 yoo ik is more stable: 1, 3-pentadienc or i, 4 pontadiene and why? {124
Bl Define and digcuss with suitsblo example a1 conoept of siercogpecific” and sterevselective
reactions. - i)
¢ Atrange T bromdbiiae, 1-bromo-2,2-limethviprogane, |-bromo-2-methylbutage, i-browo-3-
etay i e i 1he order of roactivity towsnd $u2 displacerent rexction {01}
D) Complatetde llowing reachions. Iemtiy A, Band C (033
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T) As written, the following syotieses have Haws. What is wrong with gach? 03y
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